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Reference Diagrams 
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Reference Beam Diagrams 
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Reference Diagrams 
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Reference Diagrams 
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Reference Diagrams 



ARCH 614 Final Examination S2013abn 

 

 14 

 

Reference Diagrams 

 

Available Strength of Fillet Welds  

per inch of weld (S) 

Weld Size 

(in.) 

E60XX 

(k/in.) 

E70XX 

(k/in.) 

16
3  3.58 4.18 

¼ 4.77 5.57 

16
5  5.97 6.96 

8
3  7.16 8.35 

16
7  8.35 9.74 

½ 9.55 11.14 

8
5  11.93 13.92 

¾ 14.32 16.70 

 (not considering  increase in throat with 

submerged arc weld process) 

 for which  is permitted to be 0.9  
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Reference Diagrams 
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